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[12-G]                    No. of printed pages : 04 
 

SARDAR PATEL UNIVERSITY 

F. Y. B. COM. (SECOND SEMESTER) EXAMINATION (NC) 

2012 

Tuesday, 10
th 

April 

11.00 a.m. to 1.00 p.m. 

UB02ECOM02/18 : ACCOUNTING FOR BANKING & INSURANCE 

 
Ly$g NyZ : 60 

_p¢^ :   S>dZu bpSy>_p Ap„L$X$p NyZ v$ip®h¡ R>¡. 
 
â.1 

A) sp. 31-3-2011_p fp¡S> b¢L$ Apµa õhN® rg._y„ L$pQy„ kfh¥ey„ _uQ¡_u bpL$uAp¡ v$ip®hsy„ lsy„.  (09) 
              ê$p. 
1. Mfuv$¡gu A_¡ hV$ph¡gu lŸ„X$uAp¡    240000 
2. hV$ph (S>dp)      160000 
3. hV$ph¡gu lŸ„X$uAp¡_y„ hmsf (1-4-10)     50000 
  b^u S> lŸ„X$uAp¡ hprj®L$ 18% g¡M¡ hV$phu lsu. 
 lŸ„X$uAp¡_y„ hN}L$fZ _uQ¡ âdpZ¡ R>¡. 

lŸ„X$uAp¡ g¿ep 
sp. 

dyØs 
(dpk) 

fL$d (ê$p.) 

15-1-2011 4 73000 
23-1-2011 3 43800 
15-3-2011 3 123200 

 

 Apd_p¢^p¡ Ap`p¡ A_¡ hV$ph Mps„y b_php¡.  
 

b) L$pe¡v$kf_p A_pds A_¡ hprj®L$ rlkpbp¡ A„N¡ b¢L$]N ^pfp_u Å¡NhpBAp¡ QQp£.    (06) 
 

A\hp 
 

â.1 b¢L$]N L„$`_u_p k„v$c®dp„ "rdëL$sp¡_p hN}L$fZ' A„N¡ _p¢^ gMp¡.      (15) 
 

â.2 _uQ¡_u dprlsu `f\u _¡i_g b¢L$ rg._y„ sp. 31 dpQ® 2012_p fp¡S> `|fp \sp hj®_y„ _ap-  (15) 
 _yL$ip_ Mpsy„ s¥epf L$fp¡. 

 ê$p. ('000)  ê$p. 
('000) 

gp¡_ `f ìepS> 2590 Ap¡hfX²$pãV$_y„ ìepS> 1540 
bp„^u dyØs_u \p`Zp¡ `f 
ìepS> 

 
3170 

k„QpgL$p¡_u au 
Ap¡qX$V$f_u au 

30 
12 

hV$ph¡g lŸ„X$u_y„ hmsf 490 bQsMpsp `f ìepS> 680 
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L$rdi_ 32 spf-V$`pg-V¡$guap¡_ 14 
`Npf A_¡ bp¡_k 540 õV¡$i_fu-R>`pdZu 29 
hV$ph¡g lŸ„X$uAp¡_y„ ìepS> 1550 kpdpÞe MQp® 17 
L¡$i ¾¡$qX$V$_y„ ìepS> 2230   
cpXy$-V¡$n-hudp¡ 180   

 

 h^pfp_u dprlsu : 
1) ApL$[õdL$ S>hpbv$pfuAp¡ A„N¡ ê$p. 200000_u Å¡NhpB L$fp¡. 
2) A_pds Mps¡ ê$p. 1557000 apmhp¡. 
3) L¡$ÞÖ kfL$pf Mps¡ ê$p. 200000 gB ÅAp¡. 
 `qfri›$p¡ sdpfp S>hpb_p¡ cpN fl¡i¡. 

 
A\hp 

 

â.2 _uQ¡_u dprlsu `f\u NyX$gL$ b¢L$ rg._y„ sp. 31 dpQ® 2012_p fp¡S>_y„ `pLy„$ kfh¥ey„ r_qv$®ô$   (15) 
 õhê$ ¡̀ s¥epf L$fp¡. `qfri›$p¡ `Z Ap`p¡. 

rhNs D^pf (ê$p.) S>dp (ê$p.) 
i¡fd|X$u (i¡fv$uW$ ê$p. 10 g¡M¡) - 400000 
fp¡L$pZp¡ 140000 - 
Mfuv$¡gu A_¡ hV$ph¡gu lŸ„X$uAp¡ 360000 - 
dp„N `f dm¡ s¡hp _pZp„ 260000 - 
_._y. Mpsy„ - 320000 
L$pev$¡kf_y„ A_pds - 460000 
lp\ `f fp¡L$X$ 40000 - 
fuTh® b¢L$dp„ rkgL$ 80000 - 
gp¡_ A_¡ r^fpZ 200000 - 
ipMp_p lhpgp - 110000 
v$¡hu lŸ„X$uAp¡ - 20000 
b¢L$ X²$pãV$ - 30000 
Qpgy Mpsp„ - 200000 
bp„^u dyØsu \p`Zp¡ - 300000 
L¡$i ¾¡$qX$V$ 200000 - 
b¢L$ Ap¡hfX²$pãV$ 50000 - 
dL$p_ 595000 - 
fp¡L$pZ h^OV$ a„X$ - 50000 
L$fh¡fp Å¡NhpB - 20000 
k|rQs qX$rhX$ÞX$ - 10000 
hV$ph¡gu lŸ„X$u_y„ hmsf - 5000 
 192500

0 
192500

0 

 AÞe dprlsu : 
A) hk|gps dpV¡$_u lŸ„X$uAp¡ ê$p. 400000. 
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b) N°plL$p¡ hsu õhuL$pf¡gu A_¡ h¡QpZi¡fp¡ L$f¡gu lŸ„X$uAp¡ ê$p. 420000. 
L$) Ar^L©$s d|X$udp„ 80000 B. i¡f v$f¡L$ ê$p. 10 g¡M¡ R>¡. 
â.3 qaefg¡i BÞõep¡fÞi L„$`_u_p Qp¡`X$p s¡_p ApN_¡ gNsp ^„^p A„N¡ sp. 31 dpQ® 2012_p  

 (15) 
 fp¡S>_u _uQ¡_u rhNsp¡ v$ip®h¡ R>¡. 
 

rhNs ê$p. 
bpL$u Å¡Md dpV¡$_y„ A_pds (1-4-2011) 600000 
h^pfp_y„ A_pds (1-4-11) 100000 
dm¡g rârded 1080000 
ìepS> A_¡ qX$rhX$ÞX$ (N°p¡k) 64520 
D`f_u fL$d `f AphL$h¡fp¡ 6520 
Q|L$h¡g v$phpAp¡ 610000 
Q|L$hhp_p bpL$u v$phpAp¡ A„N¡ A„v$pÆs S>hpbv$pfu :  
   sp. 31-3-11_p fp¡S> 
   sp. 31-3-12_p fp¡S> 

65000 
90000 

hluhV$u MQp® 250000 
v$phpAp¡ A„N¡_p L$p_|_u MQp® 30000 
Ap`¡g `y_: hudp rârded 75000 
`y_: hudp v$php_u hk|gps 20000 
õhuL$pf¡g `y_: hudp_p v$php 30000 
S|>_u rdgL$s_p h¡QpZ_p¡ _ap¡ 11000 
L$rdi_ : ku^p „̂^p `f 152000 
õhuL$pf¡g `y_: hudp `f_y„ rârded 40000 

 

  rârded_p 50% bpL$u Å¡Md dpV¡$_y„ A_pds fpMp¡ A_¡ h^pfp_y„ A_pds 
ê$p. 100000 fpMu_¡ r_es ap¡d®dp„ dl¡k|gu Mpsy„ b_php¡. 

 

  dm¡g rârded A_¡ v$php_u fL$d_p 25% cpfs_u blpf_p „̂^p_¡ gNsp R>¡, A¡d 
^pfp¡. 

 
A\hp 

 

â.3 kpdpÞe hudp_¡ gNsp _uQ¡_p `ep®e kdÅhp¡ :         (15) 
 1) `y_: hudp¡ 
 2) bpL$u Å¡Md dpV¡$_y„ A_pds 
 3) v$phpAp¡ 
 

â.4 V|„$L$_p¢^ gMp¡ (Nd¡ s¡ ÓZ)            (15) 
1) õV$p¡L$_p _yL$ip__p¡ v$php¡ 
2) kf¡fpi L$gd 
3) h¡QpZdp„ OV$ 
4) bp„l¡^fu Npmp¡ 
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A\hp 

â.4 d¡kk® b¡X$ gL$ Apµa bfp¡X$p_p Np¡v$pddp„ sp. 31-1-2012_p fp¡S> ApN gpNu A_¡ k„`|Z® õV$p¡L$  (15) 
 _pi `pçep¡. bQph¡g f¡L$p¡X®$ `f\u _uQ¡_u dprlsu dmu iL$u. ApN_¡ gNsp _yL$ip_ A„N¡ 

hudp L„$`_u kdn fS|> L$fhp_y„ `ÓL$ s¥epf L$fp¡. 
 

 lp\ `f_p¡ õV$p¡L$ l„d¡ip `X$sf qL„$ds L$fsp„ 10% Ap¡R>p¡ NZhpdp„ Aph¡ R>¡. 
 

hj® 2009 (ê$p.) 2010 (ê$p.) 2011 (ê$p.) 2012 (ê$p.) 
iê$Aps_p¡ õV$p¡L$ 27090 32400 36000 36900 
Mfuv$u 76900 82000 84000 7000 
Mfuv$ `fs 2000 2000 3000 1000 
Qp¡¿My„ h¡QpZ 120000 132000 140000 15000 
dS|>fu 17400 19000 20900 2000 
ApMf_p¡ õV$p¡L$ 32400 36000 36900 - 
_d|_p sfuL¡$ Ap`¡g dpg - - - 1000 
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